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Complete each of the following problems. Show all necessary work. :
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1. Find the exact value of sin(c + )
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2. Find the exact value of cos(a + )
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3. Find the exact value of tan(a + ) |85
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4. In which quadrant is the angle o + B?
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In S and 6 use the half-angle formulas to calculate the exact value of each ol‘thcdtbllowing' X Cos30"
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In 7-10, use the following information: cot 8 = —74* Wittt 0 < 0 < % \J
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Find the exact value of sin(28) 3 r zg
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8. Find the exact value of cos(28) (
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9. Find the exact value of tan(28)
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10. Find the exact value of lang
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In 1] and |12, establish each identity
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In 13 and 14, solve each equation on the inte r\xll“ 2%
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